EARAROBEEIERT — 2 N— IBISH —F

2012 7R 1H (B) 5E=%12H

KW >%—# C3 B R
[AE4£] 1% :9,000H”  23%:23,000M  3#%&:11,000MH  437%&:8,000H”  53%&:500 M
B BB mEBR Mk ME BF (&) 24 L (&%) | @BIBf | £3F |SIEE | AR | AE | R FIRB) / BE / £ERS
N N . FREMER 105, —3-0— . — Hese (FH)
izl 7levnsoL—k o9 z 1(2_5)1 3-3-2-1 | 39.3 1 <5+278) EE’%_
XY IINRISF— BE2TTq— YL aA—Ty—5
. ANER 25, dl = ARFEE (SH)
olglg| 71>z H 5 B 1(235)8 2-2-1-2 | 40.1 3 (4_4;) g*%ﬂé
L:Hrsa—-Liv B4 /- N7 7 — L
- A . o _ BEER (B0
311 y—TU7N it 4 = 1.(2563.8 1-1-2-3 | 41.0 2 ;1;37) ﬁ%i%»‘r’
LiANRTNTGR B:y—tlL—% =Eictae-]
S 2 o o9 | KR 1:26.9 4-4-4-4 | 40.8| — 4 489 | MIIIEBSE (BH)
N > RIS £254.0 (1/2) (+4) | BHABB
G147 N)—ZRE-F B:7UXZLAYF A HE
e s m s MK =35 29, 0| - Hrhfa— (B4
N BEEPRPE Y it 4 s (1;{95) 5-5-5-5 | 43.0 5 :(1)3) A
L:4v2v3y B:7UTV—€HKR &M X
005 5 B 9 | BB 1:30.5 6-6-6-6 |43.0| — 6 485 | IEFBE (SH)
6 5| AN —FA— 54.0 (5) (o) | FHEIEFE
R:TFZRIH8— B:xNT g5 Rig
S e =E— : —7-7- - mAKX (BH)
1 - BESPEPE 7 2l (2?4:9) 7-7-7-7 | 46.8 6 2724) ghe
LA H—ALF—T BIRY—ETFCH P e
. 5 .S 4 | BAHED — - — — — Hpfd— (FH)
™ 3 K TI742I 47— # 0 ) <4+3;) B
L:8=/FLLy b B:TSAZINIM—h HET7— L
® I —F—@EBIERL
13=zr= 1,8,7,2,4,5,6
Aol=5r= 1,8,7,2,4,5,6
G§a=7r= 8,(1,7),2,4,5,6
43—+ — 7,8,1,2,4,5,6
[ RN
B OB 7 1204 714K 7-8 120H B E 7-8 330M &R 1-7-8 140M
8 B 7 1009 1-7 100M B H 7-8 450/ JEH 7-8-1 470
8 1204 1-8 130H
1 1009

ABICOVWTRDTEEERROODE. TR LIV,




